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2016.08 New VMware 2V 0-620: vSphere 6 Foundations Exam Exam Questions Updated! Free Instant Download VMware
2V 0-620 Exam Dumps(PDF & VCE) 205Q& As from Braindump2go.com Today!100% Real Exam Questions!  100% Exam Pass
Guaranteed! NEW QUESTION 51 - NEW QUESTION 60: 1.[2016.08 New 2V 0-620 Exam Dumps(PDF & VCE) 205Q& As
Download:http://www.braindump2go.com/2v0-620.html 2.]2016.08 New 2V 0-620 Exam Questions & Answers:
https://drive.google.com/folderview? d=0By4UOHgxZ9SUTms2V TVfNnJsZmM & usp=sharing QUESTION 51An administrator
has configured an alarm to be notified when a virtual machine meets either of these conditions:High virtual CPUHigh active
memory consumption.The alarm is only triggering when both of the conditions are met.What can be done to correct the alarm
behavior? A. Edit the alarm and select Trigger if ANY of the following conditions are satisfied.B.  Edit the alarm and select
Trigger if ALL of the following conditions are satisfied.C.  Create two separate alarms, one for CPU and one for memory and link
them together with ESXCLI.D. Delete the existing alarm and create a new event based alarm. Answer: A QUESTION 52What
may be a cause for failure to unmount an NFS datastore? A. It has active snapshot files.B. It isbeing used for High Availability
(HA) heartbeat.C. Itispart of aCluster.D. Itismanaged by Distributed Resource Scheduler (DRS). Answer: A QUESTION 53
Which two statements are true about deploying and using vSphere Replication? (Choose two.) A.  ESXi hosts managed by asingle
vCenter Server instance require a connection between the two vSphere Replication appliances.B.  Sites managed by different
vCenter Server instances require a connection between the two vSphere Replication appliances.C.  Sites managed by different
vCenter Server instances require the use of Site Recovery Manager and a connection between the two vSphere Replication
appliances.D. ESXi hosts managed by a single vCenter Server instance require a single vSphere Replication appliance. Answer:
BD QUESTION 54An attempt to enable vSphere Fault Tolerance for a powered-on virtual machine fails.Which two scenarios
would result in thisfailure? (Choose two.) A.  The virtual machine has three vCPUs configured.B.  The host on which the virtua
machineis running has insufficient memory resources.C. The virtual machine has insufficient resources to accommodate full
reservation plus the overhead memory.D. VMware High Availability is enabled on the cluster of which this host is a member.
Answer: BC QUESTION 55A Fault Tolerance (FT) virtual machine with four vCPUs is experiencing high latency when performing
ICMP and Application tests.What are three potential causes that may be attributing to this latency? (Choose three.) A. The FT
network has insufficient bandwidth and isrunning on a1GB Link.B. The FT network is on a particularly high latency link.C.
The FT network has been configured with Network 1/0 Control.D. The FT virtual machineis running an €1000 network adapter.E.
The FT virtual machine is running on poor performing network-based storage. Answer: ABC QUESTION 56VMwaretoolsis
failing to install on a Microsoft Windows virtual machine.What are two possible situations that would prevent the installation?
(Choosetwo.) A. The VMwaretoolsinstallation mediais corrupt.B. Theincorrect Operating System was selected in the virtual
machine options.C.  The software prerequisites have not been installed.D. The prerequisite services have not been started.
Answer: AB QUESTION 57What is true regarding datastores on ESXi 6.x? A. NFS 4.1 datastore does not support Fault Tolerance
(FT)B. VMFS3 and VMFS5 datastores can be newly createdC. NFS datastore can be concurrently mounted using NFS 4.1 on
one host and NFS on anotherD.  NFS 3.0 datastore does not support Fault Tolerance (FT) Answer: A QUESTION 58An
administrator is performing a scripted installation of ESXi 6.x.In which three locations does the script need to be? (Choose three.) A.
PXE ServerB. HTTPSC. FTPD. NFSE. VVOLsDatastore Answer: BCD QUESTION 59Which three features are not
supported when using Fault Tolerance in vSphere 6.x? (Choose three.) A.  Virtual Volumes (VVOLS)B. Storage vMotionC.
Virtual Machine Component ProtectionD. vMotionE. vSphere Distributed Switches Answer: ABC QUESTION 60Refer to the
Exhibit. An administrator is configuring an ESXi 6.x host to use multiple NICs to resolve a management network redundancy error.
After configuring a second NIC, the server is not able to communicate when the primary connection is taken down. The
administrator analyzes the Exhibit shown here. “¢/
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Based on the exhibit, what isthe likely cause of theissue? A. vmnic4 is not attached to avSwitch.B.  vmnic2 is not connected to
aphysical switch.C. E1000 istheincorrect NIC Driver for thiscard.D. Thereisa MAC address conflict on the network. Answer:
B '"MRECOMMEND!!! 1.Braindump2go[2016.08 New 2V 0-620 Exam Dumps(PDF & V CE) 205Q& As Download:
http://www.braindump2go.com/2v0-620.html 2.Braindump2go|2016.08 New 2V 0-620 Exam Questions & Answers:
https://drive.google.com/folderview? d=0By4UOHgxZ9SUTms2V TVTNnJsZmM & usp=sharing

Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com | Page2/2 |


http://www.mcitpdump.com/?p=4934
http://www.profprojects.com/?page=upm

